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L* CIELAB lightness CIELAB lightness L* CIELAB lightness AY CIE tristimulus value difference AY
L*gs» L*L* gs o4 L* normallzeq to the L*gs» AyL*= 116(V/Yn)1/3 - 16 (Y,=100, 1< Y <100) [1c]
150 4 1*=116(Y/Y,) % - 16 (Y,=100, 1= Y < 100) background lightnessL* 150 # |*=116(v/Y,)"®- 16 (v,=100, 1< Y<100) [1a]| 6 dv = (3/126) (Y/Y,)*"? [2c]
L*= 116(Y/Y,)"" - 16 (Y,=100, 1< Y<100)  [1b dy = a (YY) [3c]
dy = b (Y/v)*® [4c]
2,000 100,0 a=0,557 b =3,826 [5
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R 2,586
o | 109 0=169 m=043 log[(L*/L* ,)]=0, m,=0,43 s | l09r)=1.69 m=043 S ) Re
.............................. g A .
* =50, Y =18 [*,=50, V=18 e L[*,=50, V=18 o — Y,=18, dY,=0,83, €IY/Y,)=0,045 ’
?apﬁllé:atlon PG ?gr?llgatlon logdY=-0,08 m,=0,66 . application
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- -1 0 -1 2 logY - -1 0 1 2 logY - -1 0 1 2 logY
heb90-1a heb9l-la heb91-2a
AY CIE tristimulus value difference AY | [AY/AY, CIE tristimulus value difference AYIY CIE Y sensitivity YIAY CIE Y-based contrast
AvL*= 116(Y/Y,) - 16 (Y,=100, 1< Y < 100) Aviny, QY normalized toAY, S =AY C=YIAY )

6 dy = (3/116) (Y/Y) L*= 116(Y/Y,)"° - 16 (Y,=100, 1= Y<100)  [1d 03 L*= 116(Y/Y,)" - 16 (Y,=100, 1< Y < 100) [Le]|| 60 L*= 116(Y/Y,) - 16 (v,=100, 1< Y < 100) [1g]
dy = a-(YIv)*? dY = (3/116) (¥/Y,) [2d] dvIy= (3/116) Y, Y3yt 2¢] YidY = (3/116) Y, 3V [20]
dv=b(v/v) 2 dY = a-(Y/Y,) [3d] dviy=cy Y3 [3e] YidY = e'(YlYu)z/ [30]
a=0,557 dY=b"(Y/Y,) [4d] dv/y=d-(Yivg) ™3 [4e] YIdY = £ (YY) * 38,64d]

4 a=0557 2080 0,2 =020 4= 0824 | e = 833,048 f=5721613 @ [59

’ ,
) L* =50, Y,=18 dY,=0,83, {f/dY,)=22
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) o1 .. application Y LR P
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logdY=-0,08 m,=0,66 | I_OQ_[(EYZ(EYE)]_:(E m=066  %pplication dY/Y=0,04 m;=-0,33 ey 2 83 .7 : ?\apr;‘)hgatlon
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AvIY CIE Y sensitivity AYIY) [ AYIY), CIE Y sensitivity L¥/L* CIELAB lightness AYIAY, CIE tristimulus value difference
S=AYIY S/Su=(AYM)IAYTY), normalized to AY Y, L¥IL* g5 o0 L* normalized to the NN AYUr;ormalized toAY,

0,3 L*=116(Y/Y,) - 16 (Yp=100, 1< Y < 100) [1e] L*= 116(Y/Y,) 3 - 16 (¥,=100, 1= Y £100) [1f] 3 background lightnessL*, 6 § L= 116(Y/¥y)""- 16 (¥,=100, 1< Y<100)  [1d]
dv/Y = (3/116) Y, Y2 v dY/Y = (3/116) (Y/Y,) [2f] L*=116(Y/Y,) "~ - 16 (Y4=100, 1< Y<100)  [1b dY = (3/116) (¥/Y) [2d]
dyiy=cy ¥ dyiv=cy R [3f] dy=a (YY) [3d]

02 dv/y=d- (v e dY/Y=d- (YY) [41] ) 2,.000 N BASRNT [4d]
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YIAY CIE Y-based contrast YIAY) | (Y IAY, CIE Y-based contrast AYIY) I QY CIE Y sensitivit YIAY) | (Y IAY, CIE Y-based contrast
uBYy ( u S y u/BYy (
C,=YIAY " Ci/Cy=(YIAY)/(YILY), Normalized to Y, /AY,, S/S,=AYMIAYY), normalized to AY,/Y,, CIC=(YIAY)/(YIAY), Normalized to Y, /AY,,
60 L*= 116(Y/Y,) ™~ 16 (¥,=100, 1< Y < 100) [1g] L*= 116(Y/Y,) % - 16 (¥,=100, 1< Y < 100) [1h] 6 L*= 116(Y/Y,) Y - 16 (Y,=100, 1< Y < 100) [1f] 3 L*= 116(Y/Y,) 3 - 16 (¥,=100, 1 Y £100) [1h]
YidY = (3/116) Y % vidy = (3/116) Y, Y3 [2h] dY/Y = (3/116) (YY) 2 [2f Yidy = (3/116) Y, M3 [2h]
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TUB-test chart heb9; Calculated for the LABJIND colour-difference formula, see CIE 230:201

linear[lightnesd_*, thresholdAY, sensitivityAY / Y,contrastY /AY,unnormalized and normalized]
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